I mMopar

ACCESSORIES

MOLDED SPLASH GUARD
INSTALLATION INSTRUCTIONS

Vehicle Application: XJ REAR P/N 82202718

Please read instructions thoroughly before starting.

REAR:

Tools Required:

#2 Phillips Screwdriver
5/16", 1/16" Drill bit / Drill
Center Punch

Small Hammer

Clean Cloth/Rag

Package Contents:

ltem# Qty Description

Passengers Side Splashguard
Drivers Side Splashguard

#10 x 3/4" Screws

#10 Spring Clips

#8 x3/4" Screws

Instruction Sheet

OO WN —
- N0 O —

1. Clean and degrease rear bumper cover where the Splashguards are to be located.

2. Position Splashguard on bumper cover. While holding firmly in position use part as a
drill template. Drill 5/16" holes at positions 1, 2 & 3 (See diagram A).

3. Install supplied spring clips over drilled holes (See diagram A & B).

4. Remount part and install supplied #10 screws in positions 1 2 & 3. Hold part firmly in

position and tighten screws.

5. While holding part firmly against bumper cover drill a 1/16" pilot hole in the center of hole
location 4 (see diagram A). Install supplied #8 screw. Do not over tighten.

6. Repeat procedure for other side.

A #10 SPRING ' \ : -
CLIPS ///
\ A

#10 SCREWS

4 —

SPLASHGUARD

g #8 SCREW

BUMPER COVER

SPRING CLIP ——

‘;:‘;:‘:‘ |———TIRE

Install clip with turned up edge on inside of bumper edge

SCREW

83274 2/97

— SPLASHGUARD




N

PAINTING INSTRUCTIONS

. Clean all surfaces with soap and water to remove dust and

fingerprints.

. Sand surface to be palnted with 320 grit paper.
. Spray surface with a flexible primer-bonding material.
. Apply a flexible paint as directed by the paint manufacturer.

S W N

DIRECTIVES POUR PEINDRE

. Nettoyer toutes les surfaces au savon et a I'eau pour enlever

toutes empreintes et poussiere.

. Sabler les surfaces a peindre au papier # 320.
. Vaporizer les surfaces d’un enduit d’appoint-flexible.
. Suivre les directives du manufacturier de peinture pour appliquer

la peinture flexible.

H W N

INSTRUCCIONES PARA PINTAR

. Limpie superficie completamente con agua y jabon para remover

el polvo y la grasa existente.

. Lije la superficie a pintar con un papel de lija # 320.
. Pinte la superficie con una mano de base flexible para sellar.
. Aplique una pintura flexible siguiendo las instrucciones del

fabricante.



